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Updated February 2024: 
This case study and associated test papers are no longer 
part of the assessment criteria for the 8040-02 Health and 
Social Care: Core qualification.  
 
These materials have been provided to support centres 
and candidates for formative assessment and revision 
purposes only.  
 
For the most up to date information on the Health and 
Social Care: Core qualification and January 2024 
assessment strategy update please visit: [Update] 
Changes to Level 2 HSCCC Core assessments | Health 
and Care Learning Wales. 
 
This booklet contains Question Set C only.  

For associated case study and test papers please download: 

Case Study Adult - Alwyn 

Case Study Question Set A Adult - Alwyn  
Case Study Question Set B Adult - Alwyn  

https://www.healthandcarelearning.wales/latest-news/update-changes-to-level-2-hsccc-core-assessments/
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 Question Set C - Alwyn 

 
 
1. Outline two examples of how Steven demonstrates accountability in his role. 
  

[2 marks] 

…………………………………………………………………………………………………………………… 

…………………………………………………………………………………………………………………… 

…………………………………………………………………………………………………………………… 

…………………………………………………………………………………………………………………… 

 

2. Steven apologises for speaking to the office about Alwyn’s allergies without getting 
permission first.  
 
What two reasons should Steven give to Alwyn for sharing confidential information in this 
situation?  
 

[2 marks] 

…………………………………………………………………………………………………………………… 

…………………………………………………………………………………………………………………… 

…………………………………………………………………………………………………………………… 

…………………………………………………………………………………………………………………… 
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3. Debbie the manager is going to arrange for a visit from an occupational therapist to discuss 
aids and adaptations for Alwyn’s personal care. 
 
What are three actions the occupational therapist will carry out as part of the visit? 

 
[3 marks] 

 

…………………………………………………………………………………………………………………… 

…………………………………………………………………………………………………………………… 

…………………………………………………………………………………………………………………… 

…………………………………………………………………………………………………………………… 

…………………………………………………………………………………………………………………… 

…………………………………………………………………………………………………………………… 

 

4.   

a. Give one example of when Steven has crossed a professional boundary with Alwyn. 
 

[1 mark] 

 

…………………………………………………………………………………………………………………… 

…………………………………………………………………………………………………………………… 

 

b. Outline two possible impacts of crossing this professional boundary. 
 

[2 marks] 

 

…………………………………………………………………………………………………………………… 

…………………………………………………………………………………………………………………… 

…………………………………………………………………………………………………………………… 

…………………………………………………………………………………………………………………… 
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5. There are different teams working together to support Alwyn. The domiciliary care agency 
works with occupational therapists to support Alwyn.  

State four differences that exist between these two teams of workers.  

             [4 marks] 

…………………………………………………………………………………………………………………… 

…………………………………………………………………………………………………………………… 

…………………………………………………………………………………………………………………… 

…………………………………………………………………………………………………………………… 

…………………………………………………………………………………………………………………… 

…………………………………………………………………………………………………………………… 

…………………………………………………………………………………………………………………… 

…………………………………………………………………………………………………………………… 

 

6. Alwyn is upset that Steven has telephoned the office without his permission because it 
makes him feel like a child. 
 
Describe how this feedback from Alwyn could help Steven to improve his practice.  
          [4 marks] 

 

…………………………………………………………………………………………………………………… 

…………………………………………………………………………………………………………………… 

…………………………………………………………………………………………………………………… 

…………………………………………………………………………………………………………………… 

…………………………………………………………………………………………………………………… 

…………………………………………………………………………………………………………………… 

…………………………………………………………………………………………………………………… 

…………………………………………………………………………………………………………………… 
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7. Steven checks the personal plan during his visit to Alwyn.  
 
Give two other examples of how Steven accesses information to support his work.  
  

           [2 marks] 

 

…………………………………………………………………………………………………………………… 

…………………………………………………………………………………………………………………… 

…………………………………………………………………………………………………………………… 

…………………………………………………………………………………………………………………… 

 

8. Outline three examples of how Steven showed respect to Alwyn. 
           [3 marks] 
   

…………………………………………………………………………………………………………………… 

…………………………………………………………………………………………………………………… 

…………………………………………………………………………………………………………………… 

…………………………………………………………………………………………………………………… 

…………………………………………………………………………………………………………………… 

…………………………………………………………………………………………………………………… 
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9. What are three purposes of Alwyn’s personal plan?  
[3 marks] 
 

…………………………………………………………………………………………………………………… 

…………………………………………………………………………………………………………………… 

…………………………………………………………………………………………………………………… 

…………………………………………………………………………………………………………………… 

…………………………………………………………………………………………………………………… 

…………………………………………………………………………………………………………………… 

 

10.  Alwyn wanted to attend church again, but Steven made a suggestion that this may be 
‘too difficult’. 
 
Outline three potential impacts of Steven’s attitude on Alwyn.      
           [3 marks] 
 

…………………………………………………………………………………………………………………… 

…………………………………………………………………………………………………………………… 

…………………………………………………………………………………………………………………… 

…………………………………………………………………………………………………………………… 

…………………………………………………………………………………………………………………… 

…………………………………………………………………………………………………………………… 

 

11. What is one example of a transition that Alwyn has been going through since his wife 
died?         
           [1 mark] 
 

…………………………………………………………………………………………………………………… 

…………………………………………………………………………………………………………………… 
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